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import java.io.*;
import java.lang.Math;

class RandTest{
public static void main(String[] args){
int ans;

int r2,r1; FIR{E- - %131 %args[0]
inti,x2;

int x1 = 50249347; LIR{E- -5 251%args[1]
intix = 0; AR - $351%args[2]
int imax= 0;

int data[] = new int [10000];
ri=Integer.parselnt(args[0]);
r2=Integer.parselnt(args[1]);

imax=Integer.parselnt(args[2]);

for(i=0;i<10000;i++){ } ) e
datall] = 0; JTS rvistcasitiin JTS rvistcasitiin

} —

RandTest.java €02
while(true){

if(ix>= imax){
break;

EL A Himax i L —T L TEI

}
datalZ4 R LIZELEEEMLTLC

else{
x2 = lehmer(x1);
x1 =x2;
ans=(int)((r2-r1+1)*x2/(int)Math.pow(2,15));
ans =ans +rl;
data[ix] = ans;
ix++;
}
}
System.out.printin("###EL BT —5 " + imax+ "#" + " #H#);
for(i=0;i<imax;i++){
System.out.printin(datali]);
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llLehmerlZ &2 R EERE
static int lehmer(int x){

long n; ANISA—LDRE

ot =02+ k=23

int k=23; X0= 50249347 (¥IHAfE)
int m = (int)Math.pow(2,15); M=215

long w;

w=K*x;

n=w%m;

return (int)n;
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>java RandTest3D 0 9999 3000
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> x<- scan("C:¥¥Program Files¥¥R¥¥R-2.6.1¥¥randdatal.txt")

Read 1000 items
> y<- scan("C:¥¥Program Files¥¥R¥¥R-2.6.1¥¥randdata2.txt")

Read 1000 items

> plot(x,y)
> @M %iscan(“T7 A L/SR")
T7ANDDT—EEFHANINEERTD
@ %plot()
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> r<- scan("C:¥¥Program Files¥¥R¥¥R-2.6.1¥¥randdata.txt")
Read 2000 items

> hist(r,right=FALSE)

>

@B %hist()
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> search( e

[1] “.GlobalEnv” “package:stats” “package:graphics” 7 ) }7?—%}
[4] “package:grDevices” “package:utils” “package datasets”

[7] “package:methods”  “Autoloads” “package :base”
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@ scatterplot3d |%45%E
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package ‘scalterploB3d’ successiully unpacked and MDS sums checked

The downloadied packages are in
 Setings{TM.ocal | packages
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> x<- scan("C:¥¥Program Files¥¥R¥¥R-2.6.1¥¥rdatal.txt")
Read 1000 items

> y<- scan("C:¥¥Program Files¥¥R¥¥R-2.6.1¥¥rdata2.txt")
Read 1000 items

> z<- scan("C:¥¥Program Files¥¥R¥¥R-2.6.1¥¥rdata3.txt")
Read 1000 items

> library(scatterplot3d)

> scatterplot3d(x,y,z)

> @ EHlibrary(/ v —C4%)
HBED/ T —CERAMT

@ % scatterplot3d ()
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